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i 100kN/m#%#BZ % - -~ — —|3mEEBZD - ~ — — —| 100kN/mi%#BZ % — -~ — —|3m%EEZD - ~ — - -
ZnLs 1.00 | 0.00 ~ 467 58.19 | Znlist | 000 ~ 0.00 (| 1.62 8.18 ZnLs 1.00 ] 500 ~ 5.00 58.19 | Z#xli4t | 5.00 ~ 5.00]| 1.62 8.18
9 100kN/m#%#BZ % - -~ — —|3mEEBZD - ~ — — —| 100kN/mi%#B 2% — -~ — —|3mZEEZD - ~ — - -
ZnLs 1.00| 0.00 ~ 478 59.62 | Z#nList | 000 ~ 478 1.86 9.40 ZnLs 1.00] 500 ~ 5.20 59.62 | Z#nki4t | 5.00 ~ 520 | 1.86 9.40
3 100kN/m#%#BZ % - -~ — —|3mEEBZD - ~ — — — | 100kN/mi%#BZ % — -~ — —|3mZEEZD - ~ — - -
ZnLs 1.00 | 0.00 ~ 492 6133 | ZhList | 000 ~ 000 1.74 8.81 ZnLs 1.00] 500 ~ 5.20 61.33 | Znllst | 5.00 ~ 520 1.74 8.81
4 100kN/m#%#BZ % - -~ — —|3mEEBZD - ~ — — — | 100kN/mi%#BZ % — -~ — —|3m%EEZD - ~ — - -
ZnLs 1.00| 0.00 ~ 5.05 6298 | #nList | 000 ~ 0.00]| 1.77 8.95 ZnLs 1.00] 500 ~ 5.40 62.98 | #nlist | 5.00 ~ 540 1.77 8.95
5 100kN/m#%#BZ % - -~ — —|3mEEBZD - ~ — — —| 100kN/mi%#BZ % — -~ — —|3m%EEZD - ~ — - -
ZnLs 1.00 | 0.00 ~ 477 59.50 | #nkist | 000 ~ 0.00 | 1.73 8.77 ZnLs 1.00 ] 500 ~ 5.00 59.50 | #nki4t | 5.00 ~ 500 1.73 8.77
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
FhLsn ~ Zhs ~ FhLsn ~ ZhLs ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
ZFhLsn ~ ZhLs ~ ZFh s ~ Zhs ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
ZFh s ~ ZhLs ~ ZFh s ~ Zhs ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
FhLsn ~ Zhs ~ FhLsn ~ Zhs ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
FhLsn ~ Zhs ~ FhLsn ~ Zhs ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
FhLsn ~ Zhs ~ FhLsn ~ ZhLs ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
FhLsn ~ ZhLs ~ FhLsn ~ ZhLs ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
FhLsn ~ Zhs ~ FhLsn ~ ZhLs ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
FhLsn ~ Zhs ~ FhLsn ~ ZhLs ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
Zh s ~ Zh LS ~ Zh s ~ Zh LS ~




